JEZYK ANGIELSKI

KLASA 7-8

Topic : Konstrukcja there is i there are.

Konstrukcja there is i there are uzywana jest, aby powiedzie¢, ze cos lub kto$ gdzies sie
znajduje/jest.
e ZDANIA TWIERDZACE
There is a cat in the garden. (W ogrodzie jest kot)
There are some apples in the basket. (W koszyku jest kilka jabtek)
e ZDANIA PYTAJACE
Pytania sg tworzone przez inwersje (zamiane kolejnosci):
Is there a cat in the garden? (Czy w ogrodzie jest kot?)
Are there any apples in the basket? (Czy w koszyku sg jabtka)
e ZDANIA PRZECZACE
Przeczenia sg tworzone poprzez dodanie not do czasownika be, np.:
There is not (isn’t) a cat in the garden. (W ogrodzie nie ma kota)
There aren’t any apples in the basket. (W koszyku nie ma jabtek)
1.Wybierz poprawng odpowiedz.
1. ...my Mum waiting for me when | left the station.
a) There is
b) There was

c) There were

2. I’'m sorry, but ... enough time to go to the restaurant tonight.

a) thereis



b) there wasn’t

c) thereisn’t

3. ... any Coke in the fridge when arrived from school.

a) There was
b) There wasn’t

c) There weren’t

4. ... too much noise if you play the music so loud.
a) There will be
b) There won't be

c) There was

5. How many bottles of wine ... in the cellar?
a) was there
b) there were

c) were there

6. She would have bought the dress if ... a nicer shop assistant.
a) there had been
b) there was

c) there wasn’t



7. ... any parents’ meetings at school since October.
a) there weren’t
b) there hasn’t been

c) there haven’t been

8. How much money ... in the bank yesterday?
a) were there
b) was there

c) is there

9. If you leave early, ...such big traffic.
a) there wasn’t
b) there wouldn’t be

c) there won’t be

10. ... any cinemas in Krakow?
a) Are there
b) Is there

c) There are



